CBCS/B.A./Hons./1st Sem./PHIACOR02T/2021-22

st T L et

WEST BENGAL STATE UNIVERSITY

B.A. Honours 1st Semester Examination, 2021-22

PHIACORO02T-PHILOSOPHY (CC2)

WESTERN LOGIC-I

Time Allotted: 2 Hours Full Marks: 50
The figures in the margin indicate full marks. aNfes I 0E KAG Q"Y/VW fact FC 1
Candidates should answer in their own words AR e ©IRNF I ST XA N
and adhere to the word limit as practicable. e FEE |

All symbols are of usual significance.

GROUP-A
e+
I. Answer any five questions from the following: 2x5=10
fasfeiie @-ieat #fipfs elvas Ted wiss

(a) What is the negation of a contingent statement form? Why?
O3 ST AFTFIET v I F1 8 &4 9

(b) What is exclusive disjunction? Give example.
PRI SR o700 F @RI 9 Trigge Wi
(c) What is truth functional compound statement?
SN (TAF AT FIC I 2
(d) If °P’ is true, then determine the truth value of (O=P)v (P> Q)

T <P’ 79 W@ (Q=P)v (P> Q) -3 Fepfey fefy et

(e) What are the characteristics of Rules of Replacement?
eff SRR Tifed afErafe & & ¢
(f) We can find a shorter truth table only when the argument is invalid — Explain.
(TG I G0 e, WY 2 03N Sl FER Fopgel (oice A — 1l Sl
(g) What is ‘Indirect Proof” (I.P.)?
AR @Sl 2wl FICE 0 2
(h) What is counter example?
T EE PICP 0T 9
(1) A valid argument may have a false conclusion — Is this statement true?
G (74 Ffes Praire [t 2o 2 — [feft ey ¢

(j) What is substitution instance?

NI w2 IS 0 9
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GROUP-B
er-4
2. Answer any two questions from the following: 5%x2=10
fefeiie @it 7 eivea e mes
(a) What are the differences between Material Equivalence and Logical Equivalence?
Tgore L] ¢ (T Lo Adw e
(b) What is Conditional Proof? Explain with examples.
A &N 2/S FIF 0T 9 SRIZFHE FI FERA |
(c) Is method of truth-tree an indirect proof? Give reasons for your answer.
oI 2o T G0 2T e 2o ¢ (OF TeEd FACH I s |

(d) How does the law of exportation validate the rule of conditional proof?

Exportation-43 Jqi el @liiere e [ (&3 3 9

GROUP-C
retat-of
3. Answer any two questions from the following: 15%x2 =30
fafeiie @it 7 eives e mes

(a) Determine whether the following statement forms are tautology,
self-contradictory or contingent by means of truth table.

FSTARAG AR Ao AP Fos7ey, Fosfen T wioifes o e Tt

() [(po9)-ro@)lolpvrodl 3

(i) [p2(¢-n]=l(po9) 7] 3

(iii) Define tautology and Self-Contradictory. 3
Fos 7l ¢ FRAKOR e wis |

(b) Use truth table to determine the validity or invalidity of the following arguments: 3+3

ToPEaE AR e Yfeef @ael a1 siaget [ Fee

(i) (OvP)>Q
0>(0-P) /..(OvP)D(O-P)

(ii) If Japan continues to increase the export of oil, then either Korea or China
will suffer economic decline. Korea will not suffer economic decline. It
follows that, Japan continues to increase the export of oil, then China will
suffer economic decline.

T e S coa awif 3 S, Sz T @I Sie@ Sieas widNifen s

[ (@FIRAR Sdifen o 2@ 911 Feak A isiE SwaFe toe qeif Ifa 3,
IgCe Hited WL od ST 21|
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4. (a) Use truth tree method to test the following arguments: 3+3
oI #fafe elels IR e Jewlr sl Kok sl
(i) (4&B)—>C,C—A4/..—-B

(ii) Moriarty is guilty. Though Crumm is guilty, Moriarty is not. Therefore
Holmes is a violinist.

ST SeREh Tfre @ semE, SRRl T Joak @ @ @RERVS |

(b) Use truth three method to determine whether the following propositions are 4
consistent:

TR sl @calsl Fca e A efer wfosy el [ Fele
(i) (4&B)—=C

(i) —A—D

(iii) B—(Cv D)

(c) What is meant by a ‘model’ of a consistent set of statements in the truth tree 2
method?

TR Aafors @b FRaifs1 I5e TR AT HBIE 70O F @R 9

(d) Determine by truth tree method whether the following statement is tautologous or 3
not:
A “afod MR fafeiie AW Fos7we fFal (rares
(4&B)—(Cv 4)
5. Construct formal proof of wvalidity of the following arguments: 5x3 =15

(Do not use C.P. or L.P.)
e Feafr Spreme (o @i wies( C.P. 31 1.P. IR 41 A )
(a) (HoP)-(SoW) /o.(HVvS)-(PVW)
b)  Jv(~J-K)
JoL /o(L-J)=J

(c) If the first disjunct of a disjunction is true, the disjunction as a whole is true.
Therefore, if both the first and second disjuncts of the disjunction are ture, then
the disjunction as a whole is true.

I (T IR T [KFa 7oy 27, OiRE e (TFEF 60 o) [ Todd AW
(R IR 2N Q3R faoly sl 3719) T, OIREE e (IF[EF b0 7o) 2|

6. (a) Use the method of Conditional Proof to prove the validity of the following 4
argument:

2T 2 ofafod A i et (el @i Feae
[H-(Iv))]o(UDJ) /.. (H-1)D[(IvH)D(JVvH)]
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(b) Use the method of Indirect Proof to prove the validity of the following argument:
AR 2ol Aaiod A WEkie el (@as! ewe s
AD(B-C)
(BvD)DE
DvA /- E

(c) Prove the invalidity of the following argument by the method of assigning truth
values:

FOJYET) (19 Aalod AR Fowe IEe sitazst @ Feale
(4-B)>(C-D)
[(B-~A)DE]
ESD
ADB
s D
(d) Use the method of Indirect Proof to verify that the following is a tautology:
AT el “iahod AR 2l Tt @ Fsiere e Tosme):
A=[Av(A-B)]

N.B.: Students have to complete submission of their Answer Scripts through E-mail / Whatsapp
to their own respective colleges on the same day / date of examination within 1 hour
after end of exam. University / College authorities will not be held responsible for wrong
submission (at in proper address). Students are strongly advised not to submit multiple
copies of the same answer script.
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